Chapter 5 MathLinks 7
Student Resource Answers

5.1 Probability, pages 163-164

3.

a) +,1:4,25% b) % 2:5, 40%

<) %, 0:3,0% d) %, 6:6, 100%

.a)3 b) % 2:3, 66.7%

. a) %, 3:8,37.5% b) 5, 4:8, 50%

c) %, 7:8,87.5%

.a) 2,3:9,33.3% b) 5, 1:9,11.1%

<) %, 7:9, 77.8%

7.a) 2 or60% b) & or 80%
A 3
8. a) 50/ 0.35 b) 50" 0.15
9.a) =, 0.05, or 5% b) 19 0.5, or 50%
+a) 20 005 20/ 9>

<) %, 0.2, or 20%

3
10. 2
11. % or 0.08 or 8%% . Answers may vary.

12,

There are 5 s between the 12 and 1. There
are 60 s in 1 min.

Answers may vary. In order to be
guaranteed of having at least 1 of each
colour, you would have to select all the
marbles.

5.2 Organize Outcomes, pages 169-170

4. a), b) Spin
Tiger Bear | Monkey
hungrY! hungry, hungry’

o L tiger bear monkey
S SIeepY/ Sleepy, s|eepyl
2 e tiger bear monkey
3 Playful playful, | playful, | playful,
= tiger bear monkey
angry, angry, angry,

Angry tiger bear monkey
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c) Yes. Choosing a tile has no effect on the
spin.

5.a), b) card
Moon Sun Cloud Star Rainbow
.| Black B, B, B, B, B,
g (B) Moon Sun Cloud Star Rainbow
S| White w, w, w, w, w,
(W) Moon Sun Cloud Star Rainbow
6. a), b) coin  Marble |Outcome
Colour
B (H.B)
H Y (HY)
R (H R)
B (T.B)
T Y (TY)
R (TR
7.a), b) Spin 1 Spin 2 Outcome
Lose (Lose, Lose)
e Try Again | (Lose, Try Again)
Win (Lose, Win)
Bonus (Lose, Bonus)
Lose (Try Again, Lose)
f Try Again | (Try Again, Try Again)
1137 GETD < Win (Try Again, Win)
Bonus (Try Again, Bonus)
Lose (Win, Lose)
Win Try Again = (Win, Try Again)
Win (Win, Win)
Bonus (Win, Bonus)
Lose (Bonus, Lose)
Try Again | (Bonus, Try Again)
Bonus < Win (Bonus, Win)
Bonus (Bonus, Bonus)

c) Answers may vary.

8. a), b) Spinner Die Outcome Sum C) 5
1 (1,1) 2
: <2 1,2 3
3 (1,3 4
4 (1,4 5
1 2,1) ]
5 <2 2.,2) 4
3 (23 5
4 2,49 6
1 (3,1) 4
. <2 B2 5
3 (33 6
4 (3,4 7
1 4,1) 5
P %2 @2 6
3 (43 7
4 (4,49 8
9. a) Dart 1 Dart2  Outcome
(Points) (Points)
2 (2,2
2 <5 2.5)
10 (2,10
2 (52
5 <5 5.5)
10 (5,10
2 (10,2)
10 <5 (10,5)
10 (10,10)

b) No. Answers may vary. The numbered
areas are not equal in size.
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(continued)

5.3 Probabilities of Simple Independent
Events, pages 175-176

10. a) (juice, chicken), (juice, beef),
(juice, vegetarian), (milk, chicken),
(milk, beef), (milk, vegetarian)

1
b) Answers may vary. 3. a) cdd spinmner D) 50 O 5%
1
2
Taco 3
4
Chicken | Beef | Vegetarian Back Z
© | (8 (V) ;
Juice 9
X J, C J,B J, Vv 10
e () i
= - 2
Milk 3
Q (M) M, C M, B M, V i
Forward 2
11. Answers may vary. Spin a spinner that is 1
divided into 3 sections labelled A, B, and A
C, and then roll a 4-sided die numbered 1,
2, 3, and 4. 4, a) Coin Spinner b) % or 25%
12. a), b) Spin 1 Spin 2 | Outcome Product hat
pants
2 @2 4 H éshin
2 <3 (2,3) 6 coat
4 (2,9 8 hat
2 (3,2 6 T pants
3 <3 33 9 shirt
4 3,4 12 coat
2 (4,2) 8
4 <3 43 12 . 1 0
4 @4 16 5.a) cn Spmne/rA b) 10 c) 10 ©°F 10%
c) 1 or11.1% A ¢
9 D
E
13. a), b) Flip1 Flip2 | Flip3 Outcome A
H (HH H B
H<H e EH,H,T)) B<C
H (HTH
< e ?
<" 6. 2)
T==1 arn :
Spinner
14. a) and C) Spinner 1 Spinner 2 Spinner 3 Outcome 1| 2| 3| 4| 5|
P TEP purple, | purple, | purple, | purple, | purple,
. i @) Purple 5 4 f
T TET black, black, black, black, black,
P GOD % Black 1 5 3 4 5
T 0<N don = yellow, | yellow, | yellow, | yellow, | yellow,
T :% g Yellow 1 2 3 4 5
P
N N CAD Green green, green, green, gre4en, gre5en,
|T> ' Red red, 1 red, 2 red, 3 red, 4 red, 5
= Hﬁn b) == or 4% ¢) == or 8% d) === or 8%
o @ 25 ° *) 25 ° %) 25 °
H 0 N HON
i ao 7. Q)
P HAP :
A . I Spinner
T @AD Glass Feather | Mirror Stone
. red, red, red, red,
b) Answers will vary. — glass feather mirror stone
green, green, green, green,
) Green glass feather mirror stone
o yellow, yellow, yellow, yellow,
é Yellow glass feather mirror stone
Black black, black, black, black,
cle glass feather mirror stone
BI blue, blue, blue, blue,
o~ glass feather mirror stone
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(continued)

1 o 4 o 14. a) Answers will vary. One of the spinners
b) 30 or 3% ¢) 3¢ or 20% has 4 equal divisions with the following
8. a) Answers will vary. For example, make a sections: volleyball, basketball, softball,
tree diagram or draw a table. and football. The other spinner has 3
1 o equal divisions with the following
b) g or 10% sections: floor hockey, dodge ball, and

9. a) trampoline.
Die b) Spinner 1 Spinner 2 Outcome

1 2 3 4 5 6 floor hocke: (v, th)
— volleyball <dodge b_aIIy (v, db)

| 7eA%S 1 [ H, 2| H,3|H4|H5]|HE6 trampoline - I
Coin (H) floor hockey (b, fh)
N basketball << dodgeball (b, db)
P ars ‘vt 1|12 |T,3|T,4|T,5|T,6 trampoline [
(T) floor hockey (s, fh)
softball <dodge ball” | (s, db)

1 4 trampoline = (s, 1)

b) = or 8.3% C) —— or 33.3% floor hockey | (f fh)
12 12 . . football dodge ball (f, db)

10. Answers may vary. For example: i) Flip a trampoline (£ 1)

coin, then roll a 4-sided die. ii) Flip a coin,
then select a tile from a bag where there
are 4 tiles, numbered 1, 2, 3, and 4.

c) {5 or8.3% d) 13 or 100%

e) % or 33.3%

11.
?) oo 2 | 15.2) (0, 1), (0, 3), (0, 5), (0, 7), (0, 9),
B | Wy (2,1),(2,3),(2,5), (2, 7), (2,9,
sk ) | 5.5 | B, w (4, 1), (4, 3), (4,5), (4,7), (4, 9),
Card 1 Z ! . (61 1)1 (61 3)1 (61 5)1 (61 7)1 (61 9)1
White (W) | W.B | W, W (8, 1), (8 3), (85, (8 7), (8,9
b) % or 25% ¢) 3 or 50% b) 5z or 4% <) (6, 1), (6, 3), (6, 5),
12. a), b) (6, 7), (6,9), (8, 1), (8, 3), (8, 5),
Die 2 (8,7), (8, 9); 15 or 10%
Raven Osprey Eagle Hawk Falcon Crow
(r) (o) (e) (h) (f) ()

Raven 5.4 Applications of Independent Events,
") rr r, o r,e r, h r, f r,c pages 181-182

Osprey

o, r 0,0 o, e o, h o, f o,cC 2
(o) 3. a) Spinner Die |Outcome b) 16 or 12.5%
Eagle er e, 0 e e e, h e f e C 1 (A1)
g =
o 3 3
Ha}:"k hor h o hoe | hh h f h c 4 (A4
F(I ) 1 (A1)
alcon 2 (A2)
e f,r f, 0 f, e f, h f, f f, A<3 *3
4 (A4
S c,r c, 0 c e c, h c f c C 1 (B,1)
(c) ,
=
2 1 3 2
Cc) 32 or5.6% d) 37 or 2.8% 41 (84)
36 36 I
2 (B2
e) % or 100% 8 <3 (®3)
4 (B 4)

13.a) 1 or50% b) % or 25% )
b) 18 ©°r 5.6%

C) Path Door  Outcome
<A ] &ZB
=i b

d) 0 or 0%. The mouse cannot reach
door 3 from path A.

Copyright © McGraw-Hill Ryerson, 2006



BLM 5-16

(continued)

5.a) 11. a) Song 2
Die A A B C D
Eat Work Play Sleep A |AA|AA|AB|AC|AD
Morning M, M, M, M, - A ALA|AA|AB|AC|AD
5 (M) eat work play sleep g B |[BA|BA|BB|BC|BD
0
£ Aft?;“)“" eAe;,t ngr ) /I*af sléé w| ¢ [cAlcAlcgB]|CccclcD
a _ pPay P D |D,A|D,A|DB|DC|D, D
Evening E, E, E, E,
(E) eat work play sleep 4

b) 55 oOr 16%
b) 75 or 8.3% c) 75 or 16.7%
5.5 Conduct Probability Experiments,

6. a) Card pages 187-189
2 3 4 5
1 1,2 1,3 1,4 1,5 4. a) 2 boys b) % or 26% c) % or 25%
2| 22| 2,3 ] 2,4 ] 25 7 )
o | 3 3,2 3,3 3,4 3,5 5. a) 100 ©F 27% b) 2 or 25%
Q14| 42| 43| 44| 45 c) Answers will vary. The experimental
5| 52 5,3 >, 4 5,5 probability is greater than the
6 | 62 6,3 6,4 6,5 theoretical probability.
A 1
b) % or 16.7% c) % or 25% 6.a) 55 or 35% b) 7 or 25%
1 c) Answers will vary. The experimental
7. a) Spinner Cube  Outcome b) E or 5.6% prObabiIity is greater than the
/; EQ@; 3 theoretical probability.
5 2 0 12 1
A < ﬁﬁ:g; ) ig Or 16.7% 7.a) 55 or60% b) 5 or 50%
E Eﬁ: g c) Answers will vary. The experimental
Al (A probability is greater than the
: Egg theoretical probability.
£ b (8D) 8. a), b), and d) Answers will vary.
E  (BE)
FoEp c) 3 or 50%
A (CA)
B (CD) 9.a) 7 b) < or 14% c) “= or 10%
c C : 50 ° 10 0
; Eg E)) d) Answers may vary.
" - Right Button
8.a) Throw 2 1 2
2 2 3 3 5 £ S S 1 S, 2
2 [2,2/12,2]2,3/2,3]|25 = N N, 1 N, 2
‘; 2 [2,2]2,212,3]23]|2-5 | A Al A, 2
8| 3 [3,2[32[3,3[33]3,5 ¢ C 1 G, 2
= - K K, 1 K, 2
= 3 3,2 (13,2|13,3(3,3]|3,5 _
5 |52[52|53|53]5,5 10. AnsIvzeSrs will vary. .
11.a) =55 or 23.6% b) - or 25%
b) 2% or 36% c) % or 52% 530 4
6 c) % or 24.5%
9.a) 100% b) 0% c) 16 ©°F 37.5%

12. Answers will vary. 13. Answers will vary.
10.a) 55 or 25% b) 3= or 16.7%

c) %—é or 58.3%

Copyright © McGraw-Hill Ryerson, 2006



BLM 5-16

(continued)

Chapter 5 Review, pages 190-191 1
P » Pag 12, a) Spinner 1 Spinner 2 'Outcome b) E or 8.3%
1. favourable, possible 2. experimental ) i “)) 11
3. tree diagram 4. random; an event where v @y €)1y or91.7%
every outcome has an equal chance of o 7 gg,g))
occurring U (U
5. % or2:5o0r40% v é E%’)
U o
Y (E, Y
6.a) {3 or 0:10 or 0% e <0 €0
(V] (E, U)

b) % or 2:10 or 20%

13. a) % b) % c) Answers may vary. The

3 . .
c) 10 ©°F 3:10 or 30% probability in a) is based on the results
6 of an experiment.
d) 7~ or 6:10 or 60% 8 1
) 10 14.a) 55 or 40% b) 3 or 50% c) The
7. Spi . e
. . :'""er c theoretical probability is greater than
roccot eans arrots the experimental probability.
| Salad (S) S, broccoli | S, beans | S, carrots
o -
O| Cooked (C) | C, broccoli | C, beans | C, carrots Chapter 5 Practice Test, pages 192-193
8. a) Dessert 1.A 2.B 3.C 4.D 5.B
Sundae (S) Pie (P) 6. Colour Day
i i i Sunday
. Quiche quiche, S quiche, P Monday
c Burger burger, S burger, P Tuesday
-g Surprise | surprise, S surprise, P yellow ¥th(::§:3ay
Special | special, S special, P Fridag&
Saturday
b) 8 Sunday
Monday
9. a) Fip1 Flip2 outcome b) % or 25% Tuesday
green Wednesday
<H =T @y Thursday
TH Friday
T <¥ ET, T)) Saturday
Sunday
Monday
10. a) Tuesday
Pail orange Wednesday
Nail | Screw | Screw | Screw | Screw | Hook | Hook ThUrSday
(n) (s) (s) (s) (s) (h) (h) Friday
"az‘:";‘er Hon | Hs H, s H, s H, s Hoh | Hh Saturday
é scre‘“-’d”"e" s, n S, s S, s S, s S, s s, h s, h 7. Meal
§ Pz‘;;'s | P P, s P, s P, s P, h P, h Wrap Pizza salad
Mencure Tn| Ts s Ts Ts Th | T,h = Milk (M) M, wrap | M, pizza M, salad
(@) =
= | Apple .
o juice (A) A, wrap A, pizza A, salad

b) 35 or 3.6% ) 0

a) Answers may vary. Roll a 4-sided die
and then spin a 4-section spinner.

b) % or 25% c) % or 25%

11.

d) % or 37.5%
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(continued)

8. a) No. Answers will vary. Two of the 10. a) The spinner has 5 equal sections: 4 are
4 sections on the spinner are labelled marked in and 1 is marked miss. Spin
beans. the spinner twice and record the

b) Spin 1 Spin 2 outcomes.
beans
beans ébeans b) Spin 2
peppers -
tomatoes In In In In Miss
beans (I) (1) (1) (I) (M)
S @ QD@D QD ED ] Lm
Lomatoes e In (I) @ @ @ @ ' M
eans
peppers ébeans ;)_ In (I) @ @ @ @ LM
peppers In() |[@GD|CD|ECD|[ED | LM
beans Miss (M) | M,1 | M, I | M, I| M, 1| M, M
tomatoes ég:‘;gzrs 16
tomatoes c) 75% d) 2_5 or 64%
4 10 e) The experimental probability is greater
Cc) 72 or25% d) 37 or 62.5%
) 16 o d) 1g ° than the theoretical probability.
9. a)
Spin 2
1 2 3 4 5
1 1,1 1,2 1,3 1,4 1,5
L 2 2,1 2,2 2,3 2,4 2,5
g_ 3 3,1 | 3,2 | 33] 3,41 3,5
] 4 4,1 | 4,2 | 4,3 | 4,4 | 4,5
5 51 5,2 5,3 5,4 55
5 10
b) 75 or 20% c) 8% d) 35
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